Q06 The supply voltage (o room is 120V. The resistance of the
@ wires .5 60 A 60 W bulb is already switched on. What
is the c!mrus: of voltage across the bulb, when g 340 W
heater is switched on in parallel to the bylly® [2013)
(a) zero (b) 29Vl
fc) 13.3Voh (d) 10,04 \okt
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Power of bulb = 60 W (given)

= 1 20
- Resistance of bulb = |znml - = 2400

Power of heater = 2400 (given)

120120 _ cony
2450
Wollage across bulb before heatsr is awiiched om.

Resistance of heatey =

240
Vo= ——x 20 =117.73 volt
Yoltagc mcross bulb after heatcr is switches om,

- %ﬁizu — 106 66 wolt
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